### Informational Report for the February 21, 2017, Board of Trustees Meeting

				New									
				Emp to						Ma	aximum	Assign	Assign
Last Name	First Name	мі	Site	District	Duties	Division	Hourly	Rate	Maximum	Am	ount	Beg. Date	End Date
Chabot College													
					Provide services for the Performing Arts	Arts, Humanities, and							
Andrade	Deverie	J.	Chabot	No	Center	Social Sciences	\$ 25	5.00	30	\$	750.00	1/9/2017	6/30/2017
					Provide services for the Foster and Kinship	Arts, Humanities, and							
Bracey	Charles	E.	Chabot	No	Care Education (FKCE) program	Social Sciences	\$ 50	0.00	72	\$	3,600.00	1/14/2017	6/30/2017
					Provide services for the Parents, Resources,								
					Information, Development and Education								
					(PRIDE); Community Action Outreach to								
					Infants (CARI); and Foster and Kinship Care	Arts, Humanities, and							
Brown	Clydelle	(nmi)	Chabot	No	Education (FKCE) programs	Social Sciences	\$ 17	7.39	150	\$	2,608.50	1/14/2017	6/30/2017
					Maintain and enhance learning, and attend	Applied Technology							
Cameron	James	Ρ.	Chabot	No	to safety issues in welding lab	and Business	\$ 20	0.00	450	\$	9,000.00	1/17/2017	5/26/2017
					Provides services for the California Early	Arts, Humanities, and							
Conterno	Francesca	C.	Chabot	No	Childhood Mentor program	Social Sciences	\$ 25	5.00	60	\$	1,500.00	1/17/2017	6/30/2017
					Provide services for the Foster and Kinship	Arts, Humanities, and							
Hauser	Gerry	А.	Chabot	No	Care Education (FKCE) program	Social Sciences	\$ 50	0.00	72	\$	3,600.00	1/10/2017	6/30/2017
						Health, Kinesiology,							
Joseph	Ronald	J.	Chabot	No	Teach swimming clinic	and Athletics	\$ 15	5.00	625	\$	9,375.00	1/1/2017	6/30/2017
					Provide services to the Black Academic								
					Alliance of Dynamic Leaders and the DARAJA								
King	Katrina	S.	Chabot	No	programs	Counseling	\$ 49	9.00	625	\$	30,625.00	1/3/2017	6/30/2017
						Health, Kinesiology,							
Kubicki	Jennifer	(nmi)	Chabot	No	Teach swimming clinic	and Athletics	\$ 50	0.00	625	\$	31,250.00	1/1/2017	6/30/2017
						Health, Kinesiology,							
Mousa	Nael	M.	Chabot	No	Teach swimming clinic	and Athletics	\$ 15	5.00	45	\$	675.00	11/1/2016	12/31/2016
					Provide services for the Parents, Resources,								
					Information, Development and Education	Arts, Humanities, and							
Otto	Luzemilia	(nmi)	Chabot	No	(PRIDE) program	Social Sciences	\$ 50	0.00	72	\$	3,600.00	1/2/2017	6/30/2017
					Provide services for the Parents, Resources,								
					Information, Development and Education	Arts, Humanities, and							
Page	Thema	S.	Chabot	No	(PRIDE) program	Social Sciences	\$ 65	5.00	72	\$	4,680.00	1/2/2017	6/30/2017

# Informational Report for the February 21, 2017, Board of Trustees Meeting

				New							
				Emp to					Maximum	Assign	Assign
Last Name	First Name	мі	Site	District	Duties	Division	Hourly Rate	Maximum	Amount	Beg. Date	End Date
					Provide services for the the Foster and						
					Kinship Care Education (FKCE) and Parents,						
					Resources, Information, Development and	Arts, Humanities, and					
Powell	Yvette	L.	Chabot	No	Education (PRIDE) programs	Social Sciences	\$ 20.00	350	\$ 7,000.00	1/6/2017	6/30/2017
									. ,		
					Program equity evaluations with the specific						
Sen	Sherwyn	(nmi)	Chabot	No	knowledge of SQL-related languages	Institutional Research	\$ 22.00	420	\$ 9,240.00	1/30/2017	6/30/2017
		1			Provide services for the Foster and Kinship	Arts, Humanities, and					
Stewart-Felix	Paula	D.	Chabot	No	Care Education (FKCE) program	Social Sciences	\$ 50.00	72	\$ 3,600.00	1/2/2017	6/30/2017
					Provide services for the Foster and Kinship	Arts, Humanities, and					
Suarez	Martha	Ε.	Chabot	No	Care Education (FKCE) program	Social Sciences	\$ 65.00	72	\$ 4,680.00	1/2/2017	6/30/2017
					Provide services for the Parents, Resources,						
					Information, Development and Education	Arts, Humanities, and					
Vazquez	Akilah	V.	Chabot	No	(PRIDE) program	Social Sciences	\$ 65.00	72	\$ 4,680.00	1/2/2017	6/30/2017
Chabot College - C	ommunity Educa	tion						1			
Groff	Mary	L.	Chabot	No	Teach cake decoration classes	Community Education	\$ 27.00	22	\$ 594.00	3/1/2017	5/31/2017
Iglehart	Sandra	К.	Chabot	No	Teach piano classes	Community Education	\$ 41.00	32	\$ 1,312.00	2/15/2017	5/15/2017
Mockel	Dennis	E.	Chabot	No	Teach computer classes	Community Education	\$ 37.00	6	\$ 222.00	2/15/2017	3/30/2017
Schwarz	Bill	F.	Chabot	No	Teach computer classes	Community Education	\$ 40.50	8	\$ 324.00	3/30/2017	4/1/2017
		1									
Las Positas College	2	1		1		Math, Science,				1	
					Provide services for Emergency Medical	Engineering, and					
Adking	Lori		Lac Positas	No	Services classes	Public Safety	\$ 15.00	26	\$ 390.00	1/17/2017	5/30/2017
Adkins	Lori	J.	Las Positas	No		Math, Science,	\$ 12.00	26	\$ 390.00	1/1//201/	5/30/2017
					Provide coordination services for Emergency	Engineering, and					
Eberle	Christopher	c	Las Positas	No	Medical Services classes	Public Safety	\$ 60.00	75	\$ 4,500.00	1/17/2017	5/30/2017
LUEITE	Tennstopher	<u>ا</u> د.	Las Pusilds			Fublic Salety	γ 00.00	/5	ຸວ 4,500.00	1/1//201/	3/30/2017

# Informational Report for the February 21, 2017, Board of Trustees Meeting

Last Name				New									
	First Name	м	Site	Emp to District		Division	Linus la Data		Maximum	Maximum		Assign Beg. Date	Assign End Date
	First Name		Sile	District	Duties	DIVISION	пои	iny rate	IVIdXIIIIUIII	Am	ount	Deg. Date	End Date
						Math, Science,							
					Provide services for Emergency Medical	Engineering, and							
Edward	Camille	R.	Las Positas	No	Services classes	Public Safety	\$	15.00	85	\$	1,275.00	1/17/2017	5/30/2017
						Math, Science,							
					Provide services for Emergency Medical	Engineering, and							
Edward	Danielle	R.	Las Positas	No	Services classes	Public Safety	\$	15.00	85	\$	1,275.00	1/17/2017	5/30/2017
						Math, Science,							
					Provide services for Emergency Medical	Engineering, and							
Goodman	Jenessa	A.	Las Positas	No	Services classes	Public Safety	\$	15.00	85	\$	1,275.00	1/17/2017	5/30/2017
Gourley	Regina	Α.	Las Positas	No	Provide services for the SSSP Plan	Student Services	\$	30.00	400	\$	12,000.00	1/3/2017	6/30/2017
						Math, Science,							
					Provide services for Emergency Medical	Engineering, and							
Helstrom	Zel	D.	Las Positas	No	Services classes	Public Safety	\$	15.00	26	\$	390.00	1/17/2017	5/30/2017
						Math, Science,							
					Provide services for Emergency Medical	Engineering, and							
Henshaw	Samantha	D.	Las Positas	Yes	Services classes	Public Safety	\$	15.00	85	\$	1,275.00	1/30/2017	6/30/2017
						Math, Science,							
					Provide coordination services for Emergency	Engineering, and							
Hogue	Terrance	К.	Las Positas	No	Medical Services classes	Public Safety	\$	60.00	75	\$	4,500.00	1/17/2017	5/30/2017
						Math, Science,							
					Provide services for Emergency Medical	Engineering, and							
Hogue	Terrance	К.	Las Positas	No	Services classes	Public Safety	\$	30.00	80	\$	2,400.00	1/17/2017	5/30/2017
						Math, Science,							
					Provide services for Emergency Medical	Engineering, and				Ι.			
Lee	Gregory	В.	Las Positas	No	Services classes	Public Safety	\$	15.00	85	Ş	1,275.00	1/17/2017	5/30/2017
						Math, Science,							
					Provide coordination services for Emergency	Engineering, and							
McClendon	Wendy	L.	Las Positas	No	Medical Services classes	Public Safety	\$	60.00	36	\$	2,160.00	1/17/2017	5/30/2017
						Math, Science,							
					Provide services for Emergency Medical	Engineering, and							
McClendon	Wendy	L.	Las Positas	No	Services classes	Public Safety	\$	30.00	80	\$	2,400.00	1/17/2017	5/30/2017
						Computing, Applied							
					Provides services for the California Early	Technology, and							
Nattrass	Karen	S.	Las Positas	No	, Childhood Mentor program	Social Sciences	\$	25.00	85	\$	2,125.00	8/1/2016	12/31/2016

# Informational Report for the February 21, 2017, Board of Trustees Meeting

Last Name	First Name	мі	Site	New Emp to District	Duties	Division	Ηοι	Irly Rate	Maximum	 iximum ount	Assign Beg. Date	Assign End Date
Neuerburg		T.	Las Positas	No	Provide services for Emergency Medical	Math, Science, Engineering, and Public Safety	\$	30.00	80	\$ 2,400.00	1/17/2017	5/30/2017
Pearson	Ryan Loren	J.	Las Positas	No	Provide lifeguard services for Summer 2016 classes	Business, Health, Athletics, and Work Experience	\$	15.00	2.5	37.50	7/11/2016	7/28/2016
Pfann	Jonathan	J.	Las Positas	No	Provide services for Emergency Medical Services classes	Math, Science, Engineering, and Public Safety	\$	15.00	54	\$ 810.00	1/17/2017	5/30/2017
Reno	Laura	А.	Las Positas	No	Provide facilitation services for Early Childhood Mentor teachers, director mentors, and/or community directors	Computing, Applied Technology, and Social Sciences	\$	25.00	71	\$ 1,775.00	8/1/2016	12/31/2016
Rogers	Glenn	М.	Las Positas	No	Provide services for Emergency Medical Services classes	Math, Science, Engineering, and Public Safety	\$	30.00	80	\$ 2,400.00	1/17/2017	5/30/2017
Rosen-Simon	Zina	L.	Las Positas	No	Provide services for the Early Childhood Mentor Program Selection Committee	Computing, Applied Technology, and Social Sciences	\$	50.00	5	\$ 250.00	8/1/2016	12/31/2016
Sant	Stuart	E.	Las Positas	No	Provide services for Emergency Medical Services classes	Math, Science, Engineering, and Public Safety	\$	30.00	80	\$ 2,400.00	1/17/2017	5/30/2017
Sison	Lucas	J.	Las Positas	No	Provide services for Emergency Medical Services classes	Math, Science, Engineering, and Public Safety	\$	30.00	80	\$ 2,400.00	1/17/2017	5/30/2017
Smith	Meagan	N.	Las Positas	Yes	Provide services for Emergency Medical Services classes	Math, Science, Engineering, and Public Safety	\$	15.00	100	\$ 1,500.00	2/1/2017	6/30/2017
Stoker	Brian	R.	Las Positas	No	Provide services for Emergency Medical Services classes	Math, Science, Engineering, and Public Safety	\$	30.00	80	\$ 2,400.00	1/17/2017	5/30/2017
Wada	David	S.	Las Positas	No	Provide services for Emergency Medical Services classes	Math, Science, Engineering, and Public Safety	\$	30.00	80	\$ 2,400.00	1/17/2017	5/30/2017

# Informational Report for the February 21, 2017, Board of Trustees Meeting

				New									
				Emp to						-	ximum	Assign	Assign
Last Name	First Name	MI	Site	District	Duties	Division	Hou	rly Rate	Maximum	Ame	ount	Beg. Date	End Date
Whitlock	Jeffrey	M.	Las Positas	No	Provide services for Emergency Medical Services classes	Math, Science, Engineering, and Public Safety	\$	30.00	80	\$	2,400.00	1/17/2017	5/30/2017
Windock Woog	Jonathan	0. C.	Las Positas	No	Provide services for Emergency Medical Services classes	Math, Science, Engineering, and Public Safety	\$	30.00	80		2,400.00	1/17/2017	5/30/2017
Las Positas Colleg	e - Community Ed	lucation	 1										
Murray	Stephen	D.	Las Positas	No	Teach fencing classes	Community Education	\$	40.00	200	\$	8,000.00	1/10/2017	6/30/2017
District Office													
			District			Economic Development and							
Ianniello	Raphaella	A.	Office	No	Training and consultation services to clients	Contract Education	Ş	100.00	100	Ş	10,000.00	1/1/2017	6/30/2017